BIANCA - Eghi#fi#ikxf DN 32-900

HiR
EAKNERE. BREMSHETIR, REFHMGEENIHENEEMERN
WEEARRD. B1995F LUK, REtMELENTRL.

I

- ROBEAEAE B1 3= DN 32-600
B3 % E DN 32-400
B4 UZYS%RH DN 400-900

- EHERT #&481S0 5752/20, EN 558-1/20

- [BAE RIBEN 1SO 5211

- BREIEEN 16 bar (DN 32-300)
10 bar (DN 350-600)
6 bar (DN 700-900)

- EIEAEA PN10, PN16, ANSI cl. 150
AS 2129 table D +E, JIS 10KHMIEE

REEHE -20°C - 200°C fKiB TR, HtBERHMBR T
W, EEHEENERARSIESE.

- RAPTAIE, PRI 3 F A FLIR AR AR IEDIN EN
60243-1, BEHB TR, TEAREE,
ZEME R RIE EN 12266-1 leakage rate A,
SERRMPINHEEY B,

c E BIANCAIERI W B BR R N SIS MR e
E3R2014/68/EU (PED) Bfit% 1, mee4ARI1
F4AH2,

S I L BIANCA#S R BIEC 61508 / 61511, B
EL2MHEANARFTETIRE R2=E
HERASIL 3,
BIANCABE RIS SRR A o] A BT IR EME

Zx EIE,

PR ERERUR BEEN SO 15848-1

FDARI(EU) No. 10/2011  f5FBETeflon®F&FDA 21 CFR 177.1550 Al
(EU) No.10/2011

IS ZH

ﬂ&@
InterApp A dedicated member of the BV Group

1/8



BIANCA - Eghi#fi#ikxf DN 32-900

i

1 | HEENRIEE, M ESIKEEN-JS 1025

2 | —RE. ARy /o

3 | & NEE3 mmIIPFAEE
4 | PFABSERYIES AR $HE
5 | RAREUEVRF, AFFRKVE

6 | BhIPFABLER

7 | FRERE M B

8 | BRI

9 | HMEpEAERE

10 | FEEPH, BILEER DL
11 | SRARIRERTEME S

12 | J3EEN 1SO 15848-1

BIANCAHP Z3=E4%E

| . e ! 1
RSBk ERSE T SEHEE FEP97E£100004K/1SO T4 2 S =, BT RPHNE SRR
EITARE AHN e

HI%E(E (PTFEPE, aR2EH)

DN | 32/40 ‘ 50 ‘ 65 ‘ 80 ‘ 100 ‘ 125 ‘ 150 ‘ 200 ‘ 250 ‘ 300 | 350 | 400 | 450 | 500 | 600 | 700 | 750 | 800 | 900
6 bar 675 | 900 | 1100 | 1300 | 1750 | 2100 | 2800 | 3100 | 4000
10 bar 189 | 330 | 476 | 810 | 1080 | 1320 | 1560 | 2100
16 bar| 21 ‘ 25 ‘ 39 ‘ 43 ‘ 73 ‘ 87 ‘ 146 | 227 | 396 | 571

www.interapp.net 2/8



BIANCA - Eghi#fi#ikxf DN 32-900

Kvi&E m3/h
RAFSREE
DN 20° 30° 40° 50° 60° 70° 80° 90°
32/40 4 8 17 30 45 65 85 95
50 5 11 24 42 64 92 118 134
65 8 19 41 70 108 155 200 227
80 15 33 72 125 190 270 335 392
100 20 48 95 162 255 385 485 585
125 38 82 165 255 455 645 815 1015
150 60 130 235 395 645 955 1220 1495
200 95 230 465 795 1180 1815 2410 3050
250 175 350 710 1160 1610 2420 3650 4510
300 265 522 995 1720 2665 3965 5960 7210
350 350 660 1180 1800 2880 4550 7180 8760
400 510 985 1480 2450 4230 6550 9250 11350
450 665 1255 2230 3850 6250 9200 12250 14900
500 890 1620 2980 5350 8150 11800 15560 18000
600 970 2150 4180 7420 11350 16450 21200 24500
700 1060 2560 4868 8412 14359 23901 37638 48633
750 1217 2939 5588 9675 16484 27437 43207 55829
800 1402 3328 6351 11169 19073 32074 51820 63905
900 1915 4259 7897 13849 23887 41112 66771 81016
c,=k,.1,16
I E=
MEE
100
90 /
80
70
%
< 60
€
G
< 50
@ /
o} 40
30 //
. -
0 4-_/
0° 10° 20° 30° 40° 50° 60° 70° 80° 90°

RPIFEE

www.interapp.net 3/8



BIANCA - Eghi#fi#ikxf DN 32-900

B/ REHR

(bar] Vacuum
DN 32-150, DN 200-300 with disc 4W0/4WT [mbar abs]
16 < ——— 800
14 £ 700
g ;o) \ (/()
m ) \. ‘&7
= & 23
12 z \ & 600
%
DN 200-300, DN 350-600 with disc 3LT/4LT/4T0 \
10 — \ 500
8 \ \ 400
DN350- \
5 350-90 — | \ 200
— ves®
ULTRAFLON/MVQ DN350-600 heeeepg
4 eee e eeee S00eepoescerececvsscssoccccecccsocee e [AA NN EXN NN ] eeee seeepee \ 200
2 100
S T O S O AP AP AP AP o JuirarLoNmv L Lasnapas it ettt 1
1
20 10 O 10 20 30 40 50 60 70 80 90 100 110 120 130 140 150 160 170 180 190 200 [°C]
HRE S REDMFER, M R RFIRRATEER,
ULTRAFLON® N#BIEES
BiE b=5i2
ULTRAFLON® - PTFE - PFA (BRE1mm)ALbE EEHE FDAMIRREER
Ea7) 115 N/mm?, 4 J8HA
i FERSR : 100/)\B%, S1EBHA
2 BE :23°C (73°F)
B4/ BB IR R A B 2
460 BHA
HCI
0 500 1000 1500 2000 2500  3.000 0 5 10 15
#EE [om®/m? x d x bar] B [%]

B ULTRAFLON®

N PTFE
BN PFA

www.interapp.net 4/8



BIANCA - Eghi#fi#ikxf DN 32-900

BlSRAmbS

B1 0100 3 3. 2BE 4GT . T E - xx
(1 ® ©6e0 o6 0O 006 o
B1 B, DN 32-600
O s B3 2H DN 32-400
B4 UBSAH DN 400-900
@D ~mER 0032-0900 | mm
1 6 bar DN 350-700, DN 800-900
© v B
3 16 bar DN 32-150, DN 200-300 F54W0/4WTHER
O =izize o PN10/16/ANSI B16.5 cl150 R F 5 ; EEER, MR TR
2BE BR#EN-JS 1025 / EN-GJS-400-18LT / ~ ASTM A395 60-40-18, BZ4E£E80 pm
SILL 4B0 F$8M1.4409 / ~ ASTM CF3M DN 32-400
isH1.4408 / =~ ASTM CF8M DN 32-300
10 iSE1.4404 / = AISI 316L DN 350-500, DN 600 - 900 #&H# % T
T4#481.4408 / =~ ASTM CF8M#iBRa < 0.8 DN 32-300
o F$EM1.4404 / ~ AISI 316LHi15¢Ra < 0.8 DN 350-500, DN 600 3585 T i
4GJ T3 1.4435 / = AISI 316L, 588 <0.1%, B tRa<0,4 DN 32-300
T5M1.4408 PFABLE DN 32-300
o T4R901.4301 PFABLEE, RRSHTR4H3M1.4404 DN 350-900, &H# 5 Tk
O —mmr/m 4W0 HIATIM1.4469 / ~ ASTM A 890 grade 5A DN 32-300, 16 bar
4WT SIERI1.4469 / = ASTM A 890 grade 5A PFABISE DN 32-300, 16 bar, DN 350, 10 bar
4T0 SAATRIE1.4462 DN 350-600, 10 bar
4T F4H#H1.4542 PFABE DN 350-600, 10 bar, DN 700 - 900, 6 bar
3T TSR 1.0577 PFABLEE, RO 480 1.4542 DN 350-600, 10 bar, DN 700 - 900, 6 bar
3TT TRimIR F PFAGLEE, RIS 3SE 1.4462 DN 350-400, 10 bar
**A PFA FAE3E (26, FDA, & (EU) No. 10/2011)
THO MEKEE 24819/ = ISEKAR C276 DN 50-300 (HE5H B T )
7T0 $£3.7035, Grade 2 (BRI
T PTFE (* RAISBEEH)
TV ULTRAFLON® (UF)BRES. SRS RER
@ ~m T*A PTFERSERE (R, #FDA, #4& (EU) No. 10/2011)
T*VA ULTRAFLON® F53E 2 (B, #%FDA, A& (EU) No. 10/2011)
S MVQ, F& 8200 °C
O mEs E EPDM, &8 130 °C
¢ |rummmm NI 0o mar 10t
LF SRR TR E A hAR AV FRhR A
O wmiEk HP AL RPIER B ED, ETE L AR AR, GEEFRIEAE209E, 4510000, 1SO Class 7 (ISO 14644-1))
112/246 | ATEX/ IECEx: 5% RFM(InterApp TBTEIR FIEIRIRAOLERT)
180 Fri% kBB fk iR EN 1SO 15848-1
R (RIR) MEHEER, SHR TR
BIANCA on- |s|s|s|s|=s|e|s|e|8|z|s|8|s|8|8|8|s|2|58|s
PN10 8 2
PN16 3
ANSI cl.150 & A
PN10 3 \ 2
PN16 3
ANSI cl.150 A
PN10 2 2
PN16 3 3
e ANSI cl.150 A
BRI R BRI, B EINEP,
www.interapp.net 5/8



BIANCA - Eghi#fi#ikxf DN 32-900

R~

BIANCA B1, &3t
DN 32-65 DN 80-150 DN 200-400 DN 450-600
| |
1) DN 450 - 600, FIPISEERFE
A mERATL
BIANCA B3, ZE
DN 32-65 DN 80-150 o2 DN 200-400

D3

ey/eb

M

DN | d A B c H X | b1 | D3 F 1SO a y b G E M |B1kg]| B3kg]
32140 | 40 | 125 | 69 | 33 | 23 | 4 [1058] 136 | 9 FO5 | 65 | 4x7 | 50 | 11 12 [ Mex12 | 17 | 24
50 | 50 | 134 | 68 | 43 | 26 | 9 |1184| 162 | 9 FO5 | 65 | 4x7 | 50 | 11 12 [ Mex12| 23 | 32

7 9
9

65 65 145 78 46 39 1325 | 170 F05 65 4x7 50 1 12 M6x12 | 2.9 4.1
80 80 160 92 46 66 17 144 216 F05 65 4x7 50 1 12 M6x12 | 3.4 6.2
100 | 100 | 175 107 52 86 24 173 254 12 F05/07 90 | 4x7/9 | 50/70 | 14 16 M6x12 | 5.1 9.3
125 | 125 | 194 120 56 112 35 219 293 12 F05/07 | 90 | 4x7/9 | 50/70 | 14 16 M6x12 | 6.9 10.7
150 | 150 | 210 134 56 140 47 247 315 12 FO7 90 4x9 70 17 19 M6 x 12 10 12.9
200 | 200 | 239 162 60 191 70 295 389 15 |FO7/F10| 125 |4x9/11|70/102| 17 19 M6x12 | 141 | 223
250 | 250 | 275 199 68 241 91 367 483 15 F10 125 | 4x11 102 22 24 M6 x12 | 22,9 | 324
300 | 300 | 310 230 78 290 | 1M1 419 543 15 F10 125 | 4x11 102 22 24 M6x12 | 329 | 46.9
350 | 339 | 349 257 78 330 | 131 | 428 564 16 F12 155 |4x13.5| 125 27 40 |M10x20| 50 87
400 | 400 | 379 287 102 387 | 149 | 473 620 16 F12 155 |4x13.5| 125 27 40 |M10x20| 68 98

450 | 450 | 426 320 114 436 | 168 | 528 - 21 F14 175 | 4x18 | 140 | @45 65 |M12x20| 100 -
500 | 500 | 451 360 127 484 | 187 | 588 - 21 F14 175 | 4x18 | 140 | @45 65 |M12x20| 122 -
600 | 600 | 555 415 154 580 | 223 | 686 = 26 F16 210 | 4x22 | 165 | @60 90 |M12x20| 180 -

R~ X H BB R E!
BERATRERPIEBRRENTIRT, BER2RY,

www.interapp.net 6/8



BIANCA - Eghi#fi#ikxf DN 32-900

Rt

BIANCA B4, UZY %58

DN 400-600 DN 700-900 _Q'*
w
F
1)
2)
<
1 1)DN 450 - 900, BEPIFEERFIECER S8 M ERAFL
s 2)DN 600 - 900, FfAl& 5 MELRAFL
-+ h 4
2] \\ >
D4 |
oy | ab M
4
DN d A B4 c H X D4 F ISO a y b G E M BA[kg]
400 400 379 290 102 387 149 616 16 F12 155 |4x13.5| 125 27 40 M10 x 20 95
450 450 426 320 114 436 168 630 21 F14 175 4x 18 140 @45 65 M12 x 20 140

500 500 451 360 127 484 187 700 21 F14 175 4x 18 | 140 D45 65 M12 x 20 175
600 600 555 415 154 580 223 820 26 F16 210 4x22 | 165 260 90 M12 x 20 275
700 703 605 482 165 684 269 930 26 F16 210 4x22 | 165 72 80 M20 x 40 367
750 750 629 489 190 726 280 970 26 F16 210 4x22 | 165 260 90 M12 x 20 383
800 803 658 550 190 781 307 1060 29 F25 300 8x18 | 254 280 108 | M20 x 40 670
900 900 710 602 203 877 349 1160 36 F30 350 8x22 | 298 298 128 | M24 x48 880

TEARHKIEISO 5211 KR, ZEMUEERE

DN 450-900 DN E | @6 | d e F M
450 | 65 | 45 | 14 | 21 | 488 | M12x20
500 | 65 | 45 | 14 | 21 | 488 | M12x20
600 | 9 | 60 | 18 | 26 | 644 | M12x20
700 | 80 | 72 | 20 | 26 | 769 | M20x40
75 | 91 | 60 | 18 | 26 | 644 | M12x20
800 | 108 | 80 | 22 | 29 | 854 | M20x40
90 | 128 | 98 | 28 | 36 | 1044 | M24x48

HLA: 85, R EE

DN FRAE AV | H L | ke
32/40 129 56 210 0.4
50 138 56 210 0.4
— HLA.F0511.210-C1
65 149 56 210 0.4
80 164 56 210 0.4
100 179 66 340 0.7
—— HLA.F0714.340-C1
125 198 66 340 0.7
150 HLA.F0717.340-C1 214 66 340 0.7

* kgl TEENES

www.interapp.net 718



BIANCA - Eghi#fi#ikxf DN 32-900

b
GB 880-6800
DN AV H L o P R s T s kal*
32/40 | GB232-05.F05-F0711.100 125 53 126 425 48 100 114 80 10 0.8
50 | GB232-05.F05-F0711.100 134 53 126 425 48 100 114 80 10 0.8
65 | GB232-05.F05-F0711.100 145 53 126 425 48 100 114 80 10 08
80 | GB232-05.F05-F0711.100 160 53 126 425 48 100 114 80 10 0.8
100 | GB232-05.F05-F0714.100 175 53 126 425 48 100 114 80 10 0.8
125 | GB232-05.F05-F0714.100 194 53 126 425 48 100 114 80 10 0.8
150 | GB232-06.F05-F0717.160 210 59 189 425 48 160 114 80 10 0.9
200 | GB232-06.F05-F0717.160 239 59 189 425 48 160 114 80 10 0.9
250 | GB232-08.F07-F1022.250 275 67 219 50 56 250 131 100 9.25 1.55
300 | GB232-08.F07-F1022.250 310 67 219 50 56 250 131 100 9.25 1.55
350 | GB232-13.F10-F1227.300 349 85 371 80 83 300 209 175 10 5.4
400 | GB232-13.F10-F1227.400 379 85 371 80 83 300 209 175 10 54
450 | GB88ON.F1445.500 426 92 305 86 101 500 227 200 95 14
500 | GB88ON.F1445.500 451 92 305 86 101 500 227 200 95 14
600 | GB1250N.F1660.500 555 102 346 104.5 110 500 258 220 13.75 22
700 | GB1950N.F1672.600 605 126 387 130 1425 600 3225 285 13 32
750 | GB1950N.F1660.700 629 126 387 130 1425 700 3225 285 13 32
800 | GB200ONLB.F2580.500 658 120 348 53 142 500 300 285 27 27
900 | GB6B0ON/PR4.F3098.400 710 159 470 182 170 400 407.5 370 815 63
MB: GB232%R, BEEEE * kgl FEBERNFHNES
GB1250-GB6800 GG 25 B AR 2B ** 1= FHE/RIEY
ELEH

RN RENEEE)2R. BENEREN R N  F 2 RERN EREIRR
RN R A ROEN  FE2 R R IR R E B TR

The technical data are noncommittal and do not assure you of any properties. Please refer to our general sales conditions. Modifications without notice.
© 2024 InterApp AG, all rights reserved

www.interapp.net 8/8 BIANCA_2418 cn-t



